SIRA NO PARGA KODU PARCA ADI ADET
1 P2641010 SANZIMAN MOTOR ARASI CONTA 1
2 P2,01.02.019000 SANZIMAN KAPAK 1
3 P2.63.01.02487 SANZIMAN KAPAK HAVA TAPA CIVATASI 1
4 2.63.01.01884 PiM-92.5*30 4
5 2.63.02.000500 RULMAN-6007 1
6 DIN 125-M8-8,8 DUZ RONDELA-DIN 125 M8-8,8 10
7 P0103021 YAYLI RONDEL-DIN 127-M8 23
8 P0101218 iMBUS CIVATA 4
9 P2.02.09.002700 DEBRIYAJ 1
10 |P2.63.01.00404 SANZIMAN KAPAK MERKAZLEME BURCU 2
11 |P2641017 SANZIMAN KAPAK ARASI CONTA 1
12 |P2,67.02.000265 SANZIMAN GOVDESI 1
13 |P2681176 DIDON FLANSI 1
14 |P2641516 VITES GOSTERGE SACI 1
15 |P2.67.02.000039 VITES MiLi BURCU 4
16  |P2.67.02.000050 CATAL MiLi 1
17 |P2.09.01.004300 O RING-$10.6*1.8 8
18 |P2704021 YAY ASKI CIVATASI-M8-@10x8 1
19  |P2.67.02.000027 CATAL 1

20 |P0102010 SOMUN-DIN934 M8-10,9 1
21 |P2604044 SPIRAL TUTUCU ALT 1
22 P0101027 iMBUS CiIVATA M8x45-10,9 6
23 |P2.51.06.001300 YAG CUBUGU 1
24 P2.67.02.000062 DEBRIYAJ CATAL MiLi KOMPLE 1
25  |P0108048 DIN471 @14 1
26 |P2.67.02.000026 DEBRIYAJ GATALI 1
27  |P2.63.01.02483 PiM 1
28 |P0101002 AKB CiVATA-DIN 933 M10x35-10,9 2
29  |P0101064 AKB CiVATA-DIN 933 M10x40-8,8 2
30 |P0101059 AKB CIVATA-DIN 933-M8x30-10,9 5
31 |P0103005 DUZ RONDELA-DIN 125 M10-10,9 9
32 P0102036 FiBERLi SOMUN-DIN 985 M10-10,9 4
33 |P2704022 OZEL SOMUN 1
34 P0101195 iMBUS CiVATA-DIN 912 M6x16-8,8 15
35  |P0103020 YAYLI RONDELA-DIN 127-M6 17
36 |P2604043 SPIRAL TUTUCU UST PARCA 1
37  |P0102010 SOMUN-DIN934 M8-10,9 4
38 P2.09.05.002800 CIKIS MiLi KAPAK CONTASI 1
39  |P2.67.02.000035 GIKIS MiLi KAPAGI 1
40  |P0103014 DUZ RONDELA-DIN 125 -M6-8,8 5
41  |P2.67.02.000065 MiL KAPAGI 1
42  |P2.67.02.000033 KAPAK 1
43 |P0107051-RULMAN-6203 RULMAN-6203 2
44 |P2.3.02.000200 (30203) RULMAN 1
45  |P2.67.02.000013 GERI VITES MiLi 1
46 |P2.09.01.000900 O RING-@ 18-1,8 1
47  |P2.63.01.02538 PIM-¢5x10 1
48  |P0101029 AKB CiVATA-DIN 931 M10x20-10,9 1
49  |P0103010 YAYLI RONDEL-DIN 127-M10 1




50 |P2.67.02.000014 GERI VITES DISLISi 1
51  |P2.07.04.000400 YAY 1
52 |P2.63.01.02484. SOMUN M12 2
53  |P2.67.02.000032 BURC 1
54  |P2.63.01.02325 KUPILYA-g2.5x25 1
55  |DIN125-M12 DUZ RONDELA-DIN 125 -M12-8,8 3
56  |P2.02.02.021200 DisLi 1
57  |P2.07.01.003500 PUL-g17X@27X1,5 1
58  |P2.67.02.000017 MAHRUTI MiLi 1
59  |P2.02.02.021300 VITES DiSLiSi 1
60  |P2.63.01.00030 KAMA-6x6x20 1
61 |P2.63.01.01045 KEGE 3
62  |P2.63.01.01046 SOMUN M16x1.5x6 3
63  |P2.63.01.02092 FLAT WASHER @ 6 1
64  |P0101056 AKB CiVATA-DIN 933 M6x16-8,8 1
65 |P2.02.02.021400 VITES MiLi 1
66  |P2.67.02.000018 MiL 1
67  |P2.07.03.005900 YUzUK 2
68  |P2.67.02.000036 MAIN SHAFT FLAT KEY SLEEVE 1
69  |P2.09.01.006900 O RING-$12,5x1,8 2
70  |P2.67.02.000038 MiL BURCU-$20x$p16x12 1
71 |P2.09.04.001100 DONER MIL KECESI-g20x@35x7 1
72 |P2.63.01.03397 PUL -g6x@25x2 1
73 |P0101125 iMBUS CIVATA-DIN 912 M6x20-8,8 1
74 P2.02.09.002700 DEBRIYAJ BALATA SETI 1
75  |P2.67.02.000028 KAYDIRMA Mili 1
76  |P2.67.02.000034 VITES PLAKASI 1
77 |P2641046 VITES KOLU MAFSAL GRUBU 1
78  |P0103004 DUZ RONDELA-DIN 125-M8-8,8 5
79  |P0103287 OZEL PUL-87x18x0,8 2
80 |P0101178 AKB CiVATA-DIN 933 M6x20-10,9 2
81 |P2702010 DISI TITRESIM TAKOZU-210M 1
82  |P0102027 FIBERLI SOMUN-DIN 985 M6-10,9 1
85  |P2.67.02.000266 DisLi 1
84  |P0101052 AKB CiVATA-DIN 933 M8x45-10,9 2
85 |P2641011 SANZIMAN-FREZE ARASI CONTA 1
86  |P2.63.02.000100 RULMAN-30205 1
87  |P2.63.02.001400 RULMAN-30204 1
88 P2.67.02.000024 DiSLi MiLi 1
89  |P2.67.02.000021 DisLi 1
90  |P0106063 DONER MIL KECESI-25x47x10 4
91  |P2.67.02.000268 SANZIMAN GOVDE KAPAGI 1
92 P2.67.02.000025 CIKIS MiLi 1
93  |P2.9.05.007300 SANZIMAN CONTASI 1
94 P2.67.02.000029 CIKIS MiLi BASKI PLAKASI 2
95  |P2.63.02.021400 RULMAN-30305 1
96 P2.67.02.000022 KONIK DiSLi 1
97  |P2.63.02.020200 RULMAN-6305-2RS 1
98  |P2.09.01.000500 O RING-$11.2x2.65 1
99  |P2.63.01.02486 ALTI KOSE CiVATA 1




100 P0101007 AKB CIVATA-DIN 933 M8x20-10,9
101 P2701036 210M CAMURLUK MONTAJ BRACKET
102 P2701037 KAPUT TUTUCU




